FgArea: [0 ]
NC11 P3
2025-05-27 (Day 52)




.\ﬁ
=@
—
- O
> >
¢4 -
1 _
o o©Oo o o o o o o
o . o 1L o .o»uw o 1©v
S F B & 5 & 8 &
_-nVO
3
==
&

- V

2000 4 —®&— VO

1500

1000
500

50

40

30

20

10

| —° 3
—0
— _ ° S
T e
-@
o
K\\ ™
o=
o
1Y
=
=
>
N
\.
I —s_
o o o o o o o o
S S = = S S =
5 « = o © < 39
|Illlllul.ulllllll N R —— -
0 -
-
- =
[ o ——
Y=
.ﬂV.
o
1Y
|| o
= -
>
It 1.
o o o o o o = o o
= e S el = re) =] rel
§ £ 8 &8 8 ~ B o

—&— 2 0IR

~ © 1) < ™ o~ — o

o o o o o =) o =)

(R R AN (R PSR RSP PRRPRIPI RPN R

[ =
== ur
o
—
—
C=
@
© ~ © o < ) N - o
o o o o o o o o o

50

40

30

20

10

50

40

30

20

10



Warning: col ['FR'] missing

0.2 0.4 0.6 0.8

1.

Warning: col ['setVI'] missing

0.0

0.2 0.4 0.6

1 (fgArea = NA)

1.

3250 -

3000

2750

2500 -

2250

2000 -

1750 ~

1500 ~

1250

—@— ECI*10%
—0— ECO

&)

o
—_
o

0

Warning: col ['FR'] missing

0.2 0.4 0.6 0.8

1.

Warning: col [ setVI'] missing

0.2 0.4 0.6

2 (fgArea = NA)

1.

4000

3000

2000

1000 ~

——
——

EC1*10%
ECO

o -
—_
o

0

0



—e— PHI¥ION "l —e— PHI*IO%

—0— PHO —0— PHO




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

—@— ECopt

50

75

100

125

150

175




Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

6.6 -

6.4

6.2

6.0

5.8

5.6

"FVIPH'|] is missing

10

20

30

40

50




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3_0, Day=51 (2025-05-26)
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23F[3751.0 A10R) 1650. 0 2 REC: 2080.0




P3_0, Day=50 (2025-05-25)
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=it 4092.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5

large discrepency for begining water status (446:276.0), set to 446 ml




P3_0, Day=49 (2025-05-24)
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#HERECE (2135.0 vs 3130.0) RS



P3_0, Day=48 (2025-05-23)

o froo-fpo--FfFrrcctfbFrre—FF— —Y— o ———fF—— e —— — e —— — — ]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET o081 223750
F 2000 2
100
375 °
1083 1166 E
50 - 39 - 1000 >
55 19 -
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
300 FRY — ME pl0.0
*IE maxM L 57 5
©
—_ 2 -
° % - 25.0
VY VUV VRV RV (U U NPUUIVHN WOV R AU NPT =S S O SO P
~ 100 - L 225
= W
o L 20.0
' 4
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800
TargetEC=2600. 0, TargetSetEC=2080. 0 —>— EcB¥10% [
2200 -
A S L T e N H-———f——————f-———-—f ===}
2000 -
1900 4 Warning: lcol ['ECC' ]l is missing
7.0 4 TargetPH=6.5, TargetSetPH=6.5 ——  PHB*10% f*
6.5t e S . I ——
6.0 Warning: col ["PHC' 1 is missing
1
5009 ByInit D52 02:05: ET=2091 Fg=2250.0 Ro=226.0 o
© , - 3000 £
()] ©
S 1 —e .4 @ =
2 400 - i - 3
I ! T |z
E 200 - : = —a m
I L 1000 ‘£
. u [ T\ 5
o —4—o—0—
0 h——an PP D G——— - 0
600 40 1 2 3 4 5 6 7 8 9 [ 10| 11 |12 [ 13 ] 14 [ 15 ] 16 | 17 ]| 18 [ 19 ] 20 | 21 | 22 | 23
2 PR | B | BB | BB | B B|B|BE|®B| B i 5 5 5 B 5 5 5 B | 5 5 5 B 5 3000 2
= 400 ] BYEt @D48 19:07: ET=2139 Fg=2150.0 Ro=nan I =
£ & o E
E 200 - o
}_ - 1000 “g
(NN [&]
) o—&
0 p—ap o - 0
600 40 1 2 3 4 5 6 7 8 9 [ 10 [ 11 |12 [ 13 ] 14 | 15 ] 16 | 17 ] 18 [ 19 ] 20 [ 21 | 22 | 23
o~ FH BH A FH FH BH G EREREAEREREEAEA EEAR [A FH FH BH G ERERERR NG 5 3000 2
c 1 c
% ByWoFv ®D52 02:05: ET=1375 Fg=1650.0 Ro=134.0 %’_
T 07 : L 2000 =
< ! ———8—8—8 8§ £
E 200 - | o
}_ 1 L 1000 “g
- ) o—¢—o—o—eo 3
1.0 P——ap &l PP e 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 |12 [ 13 ] 14 15 ] 16 | 17 | 18 ] 19 ] 20 [ 21 | 22 | 23
08l M BH A FH FH BH G EREREAEREREEAEA EEAR [A FH FH BH G ERERERR NG 5
0.6 -
0.4
0.2
[
| _obs
PPFD_obs
2.0 A
n ® VP
151 W \




m=400, FV0=0 m=435, FV0=0 m=530, FV0=0

21.01 _g ME 21.81 _q ME e o ME
20. 8 - 21.6 -
21.4 1
20.6 7 21.4 -
21.2 1
20. 4 1
21.27 21.0 4
20. 2 1
21.0 4 20. 8
20.0 1
- ME 20. 8 - 20. 6 -
T T T T T T T T T T T T
600 800 1000 400 405 410 435 440 445 550 555 560
m=635,m FV0=0 m=720,m FV0=0 m=750,m FV0=0 m=795,m FV0=0
o NE 21.91 _4 ME 21.8 1 _4 M E
21.6 1
21.8 1 21.7 1
21.4 1 21.7 1 21.6 1
21.6 1 21.5
21.2 1
21.5 1 21.4 1
21.0 1
21. 4 1 21.3 1
20. 8 - 21.3 1 21.2 1
T T T T T T T T T T T
640 645 720 725 730 750 755 760 795 800 805
m=850,m FV0=0 m=900,m FV0=0 m=955,m FV0=0 m=1015m FV0=0
—o— ME —o— ME 22.0 17 _g— M_E
21.8 1 21.8 4
21.8 1
21.6 1
21.6 -
21.6 1
21.4 1
21. 4 1
21 9 4 21.4 4
21.2 1
855 860 900 905 910 955 960 965 1015 1020 1025
m m=400,m FV0=0 m=435,m FV0=0 m=550,m FV0=0
—o— MW —o— MW 2.2 1 _g— MW
23. 4 1 24.2 1
24.0 1
23.2 1 24.0
23. 8 1
23.0 1 238
' 23. 6 1
22.8 1
23. 6 1 23. 4 1
22.6 -
23. 4 1 23.2 1
600 800 1000 400 405 410 435 440 445 550 555 560



m=635, FV0=0

24.2 -

24.0 -

23. 8

23.6

23. 4 -

—o—

M_Ww

635

6&0 6&5
m=850,n FV0=0

24. 4 +

24. 3 -

24. 2 -

24.1 -

24.0 -

23.9 A

23. 8

—o—

M_W

850

T
855 860

24,

24.

23.

23.

23.

24.

24.

24.

24.

23.

23.

m=720, FV0=0

—— MW

T
720

7é5 750
m=900,n FV0=0

1T —e— mw

T
900

T
905 910

24.

24.

24.

24.

24.

23.

24.

24.

24,

23.

m=750, FV0=0

—— MW

T
750

765 7é0
m=955,n FV0=0

—— MW

955

T
960 965

24.

24,

24

24.

24.

23.

23.

24.

24,

24.

24.

m=793, FV0=0

—0—

M_w

T
795

860 865
m=1015n FV0=0

——

M_W

T
1015

T T
1020 1025




